Ho

op

.

()={1=[]d=AR

T

__01_
<A

‘I_

oA A

ol
o

3

o]

Ho

@ A&A

Iz
ot

N
__i
2

‘I_



@ b-a

?

O == &5
DTOJ—

b7Vaxb<0,bxc<0,axc>0% o, ot
(2, ¢ > boltt)

@ a+c @—é @—é ® a-c
a c

=



)—(-10) J(l)

(2)
(3)

D —

)—
(-10)

(_
200X (5)
+
(~20) x (-1
5

11
25
(=10
(+4))+(+4)—(
+ -1
(—1o>+(+1z)_
)

(=20) X (
(+4)+0

i~
!
o
E

i~
ol
m
iz

_Z_l

e
;OH

T

—

_Z_l
s
o
4

]’

_X_l

L
__OH

T

—

_Zﬁ
s

jant
!

—

_Z_l
L,

;OB
T
i~
Gt
ol
e
i~
g

jant
izl






5. o= A9 AteAE A= wE A2

T—[-10+{(-=3)*+5 % (-2)} +

! 11 !

QO 0O @00
© ©.8.8,0,.0,0 ® ©.8.8.0.0,0
® ©,8,.8,8,0,0 ® ©,8,8,8,0,0

G® 6,0,.0. 6. 0. 6



6. A Za b colddtdaxb=-6.ax(b+c)=-20<L W, axc

&

D =14 ® —-926 A =10 @ 8 B 14



= _ 1
a, b ol d5te] amb — a+ b+ 5 2 ol o), 310 (guz)

ares

Q7 ® 8 @ 11 G 13



8 a>0,b<0,c<0d W, 2 F 32 72?

@ a+b-c>0 @ a-b-c>0
@ a-b+c>0 @ a+b+c<0

® a-(2b-¢)>0



9o 5 1 A, B 7} 9leh A, B ARl 9] A7} 12

o 24w, FHA B

>
>

3 4 @ 8 ® 10

@ 2



o] = 3irt.

1
3

A Y

O

Se
4

10. " Fao -



